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5. (BvD)—>(C—(BvD))

6.  (M>N)—>(=N—>—M)

7. (Hol)-(HW)

8. ((TOSNVP)A((TES)VP)

9.  —Kv(K>K)

10.  (L=>(M->N))—>((L>M)—>(L—>N))
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13, (SoT)o(SoT)

14, ((FAE)>D)V(EA—D)

15. =((AAB)—((CvD)—(AAB)))
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1. KL ; —L->—-K

2.PAQ  PvQ

4.B—>(C—-B) ; A

6. (SoT)v—(SoT) 5 (S>T)—=>(—S—>-T)

7.-(P—Q) : PA-Q

8.A(B—C) : (AAB)C

9.Q ; (QoP)A—P

10. (E—>F)A(F—>G) ; E—G
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2.PAQ ; PvQ

3. ~(H>G)v—G) ; —Gv(G—H)

4.B>(C—>B) ;: A

6. (S&T)v—(SoT) ; (S>T)>(—S—-T)

8.A>(B—C) ; (AAB)>C

9.0 ; (QP)A—P

10. EFA(F—>G) ; E5G
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PAQ = PvQ

A= B—>(C—-B)

(S>T)>(=S—>—T) E (SeT)v=(SoT)

= =(P—Q) « (PA=Q)

= (A—>(B—C)) «< ((AAB)—C)

(Q—P)A—P ¥ Q

(E->F)A(F—G) = E-G



